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Electromagnetic Showers
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Monte Carlo Simulation of an EM Shower
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“b” is sort of material independent
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Transverse Shower Profile
• Shower Broadens as it develops

• Pair
• Brems
• Compton
• Multiple Coulomb
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• Like radiation length, Moliére radius scales for different materials 

• In terms of Moliére radius, shower width is roughly independent of 
material - 90% of energy in

• Shower Broadens as it develops
• dense central core
• spreading with depth
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Comparison of Hadronic & Electromagnetic Showers







First Prototype

• Designed between January and April 1990

• Build between April and July

• Exposed to test beam in July-August, using

the cryostat  and FE electronics of Helios expt

• Demonstrated the concept was sound,

although the electronics was not yet fast enough
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Prototype of EM endcap yp p
Detail of Kaptons
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From RD-Schaffer’s CERN seminar Sept 5th
And CONF-2017-047









Is the Higgs mass 8.3 GeV  ???
At 4.2 sigma???

( ) 01S Hγϒ →



No, it isn’t!

Is the Higgs mass 8.3 GeV  ???
At 4.2 sigma???
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